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« 14 BFAL Top-down, Bottom-up

* Top-down : =X|& =82 LI, BEE=248S &1
« HE M= 7

- Bottom-up : X2 EE2X|=E ZO{LDIC EH 2X|2 Z 4 Q/r}
 forloop
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« "2t2 0| 2SHECH => Memoization

+ Formal : "ngmj TR LEX| 2 PoHe 2H"= "n-2H W) TR LEX| 2
ot 2H|"9 'n- 1M T ELEX| & 3= 2X'2 Lhs & QUC

d@hl



GIAl = ntHRG T|ELFX| 4~ 51612

* Top-down

al,
L
= 5+ U1,
« f(4)= 0|0 QYO ™M 1 32 £ XSt= 42 ELHD, Of&l ot =IO ™



KAl = ntH

e

W I L] & 7

int memo[100] = {0, };

int fibonacci(int n) {

if(n < 2)

return n;

if (memo[n] != 0)

return memo[n];

memo[n] = fibonacci(n-1) + fibonacci(n-2);

return memo[n];
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« Bottom-up
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int fibonacci[100] = {1, 1};

for (int 1 = 2; 1 <= n; i++) {

}

fibonacci[i] = fibonacci[i -

return fibonacci[n];

vl

1] + fibonacci[i - 2];
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* Top-down
int f(int x) {

if(x == 1) return 1;
if(x == 2) return 3;
return (2*f(x-2) + f(x-1)) % 10007;

int main() {
int n; cin >> n;
cout << f(n) << endl;

return 9;
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« Bottom-up

dp[1] = 1;

dp[2] = 3;

for (int i = 3; i <= n; i++) {
dp[i] = 2 * dp[i-2] + dp[i-1];
dp[i] %= 10007;
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* d;, = min(d;_q, di—l,g)
* di,g — min(di—l,bl di—l,’l‘)
* di,b — min(di—l,rl di—l,g)

*ans = min(d, ,, dy 4, dpp)







